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Abstract: In order to investigate the draw probability of the Champions League knockout tournament, a new

draw probability model is established by using Monte Carlo simulation algorithm, and it is used in the draw

rules and process of the 2017-2018 Champions League knockout round, thus the numerical solution of the

match probability is obtained through calculation. The confidence interval and quantile are used to verify the

match probability of the model, the proposed method exhibit good reliability. The simulation of the draw

probability of Barcelona versus Chelsea is about 40 % , which is consistent with the final actual result, therefroe

the simulation results once more indicate that the proposed method is reliable.
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R L1
library(lubridate)
set. seed(1234)

sink(file="C:/Users/Ding/Desktop/ UEFA Champions League.

txt" ,append="T)

n_1 <<— 100000 # 100000 times Monte Carlos Simulations each

experiment
n_2 <<— 100 # 100 experiments
now()

result_all <<— array(NA,dim=c(8,8,n_2))
for (xin 1:n_2) {

result_cum <Z— matrix(0,nrow=_8,ncol=28)

(1:

FUN_1 <<— function(a,b) {
result[a,1] <<<<— set_1[b]
result[a,2] <<{— set_2_2[[set_1[b]]]
set_ 1 <<<Z— setdiff(set_1,resulta,1])
for Gin1:8) {
set 1 1[[j]] <<<<— setdiff(set 1 1[[j]],result[a,1])
}
set_2 <_<— setdiff(set_2,result[a,2])
for Gin1: 8 {
set_2_2[[j]] <<<— setdiff(set_2_2[[j]].result[a,2])

FUN_2 <<— function(a,b) {
result[a,1] <<<{— set_1 1[[set_2[b]]]
result[a,2] <<<{— set_2[b]
set_1 <<<— setdiff(set_1,resultfa,1])
for (Gin1:8) {
set_1_1[[j]] <<— setdiff(set_1_1[[j]].result[a,1])
}
set_2 <\<_— setdiff(set_2,result[a,2])
for (Gin1:8) {
set_2 2[[j1] <<— setdiff(set_2_2[[j]],result[a,2])

for (kin1:n_1) {

result <<— matrix(NA,nrow=8,ncol=2)
set_ 1 <<—1:8

set_ 2 <<— 1:8

set_1_1 <<— list(setdiff (1 ¢ 8,1),setdiff (1 = 8,2), setdiff
8,c(1,3,5,6,8)),setdiff(1 = 8,c(3,4)),setdiff(1 : 8,c(4,

5)),setdiff(1 ¢ 8,6) ,setdiff(1 : 8,7),setdiff(1 * 8,¢c(4,8)))

set_2_2 <<— list(setdiff (1 = 8,c(1,3)),setdiff(1 : 8,2),
setdiff(1 # 8,¢c(3,4)) ,setdiff(1 ¢ 8,c(4,5,8)) ,setdiff(1 : 8,¢(3,
5)),setdiff(1: 8,¢(3,6)),setdiff (1 :
8)))

for (iin1:2) {
result[i,1] <<— sample(set_1,1)
result[i,2] <<— sample(set_2_2[[result[i,1]]].1)

8.7),setdiff (1 + 8,¢(3,

set_1 <<— setdiff(set_1,result[i,1])
for Gin1: 8 {
set_1_1[[j]] <<— setdiff(set_1_1[[j]],result[i.1])
}
set_2 <_— setdiff(set_2,result[i,2])
for Gin1: 8 {
set_2 2[[j]] <— setdiff(set_2_2[[j]].result[i,2])

}

}

if (length(set_2_2[[set_1[1]1]H==1) {
FUN_1(3.1)

} else if (length(set 2 2[[set_1[2]] D ==1) {
FUN_1(3,2)

} else if (length(set 2 2[[set 1[3]]H==1) {
FUN_1(3,3)

} else if (length(set_2 2[[set_1[4]]D==1) {
FUN_1(3,4)

} else if (length(set_2 2[[set_1[5]] D ==1) {
FUN_1(3,5)

} else if (length(set_2_2[[set_1[6]]]H==1) {
FUN_1(3.6)

} else if (length(set 1 1[[set 2[1]] D ==1) {
FUN_2(3,1)

} else if (length(set_1_1[[set_2[2]]1H==1) {
FUN_2(3,2)

} else if (length(set_1_1[[set 2[3]]DH==1) {
FUN_2(3,3)

) else if (length(set_1_1[[set_2[4]]==1) {
FUN_2(3,4)

} else if (length(set_1_1[[set_2[5]] D ==1) {
FUN_2(3.5)

} else if (length(set_1_1[[set_2[6]]H==1) {

FUN_2(3.6)
) else {
result[3,1] <<— sample(set_1,1)
result[3,2] <<— sample(set_2_2[[result[3,1]]],1)
set_1 <<— setdiff(set_1,result[3,1])
for Gin1:8) {
set_1_1[[j]] <— setdiff(set_1_1[[j]],result[3,1])
}
set_2 <<— setdiff(set_2,result[3,2])
for (jin1: 8 {
set_2_2[[j]] <— setdiff(set_2_2[[j]],result[3,2])

}

if (length(set_2 2[[set_ 1[1]1H==1) {
FUN_1(4,1D)

} else if (length(set 2 2[[set 1[2]]DH==1) {
FUN_1(4,2)

} else if (length(set_2_2[[set_1[3]]H==1) {
FUN_1(4,3)

} else if (length(set_2_2[[set_1[4]]D==1) {
FUN_1(4,4)

} else if (length(set_2_2[[set_1[5]]H==1) {
FUN_1(4.5)

} else if (length(set_1_1[[set_2[1]]DH==1) {
FUN_2(4,D)

} else if (length(set_1_1[[set_2[2]]H==1) {
FUN_2(4,2)

} else if (length(set 1 1[[set 2[3]]D==1) {
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FUN_2(4,3)
} else if (length(set_1_1[[set_2[4]]Dh==1 {
FUN_2(4,4)
I else if (length(set_1_1[[set_2[5]]H==1) {
FUN_2(4,5)
}else {
result[4,1] <<— sample(set_1,1)
result[4,2] <<— sample(set_2_2[[result[4,1]]],1)
set_1 <<— setdiff(set_1,result[4,1])
for Ginl:8) {
set_1_1[[j]] <<— setdiff(set_1_1[[j]],result[4,1])
}
set_2 <<— setdiff (set_2,result[4,2])
for (Gin1:8) {
set_ 2 2[[j1] <— setdiff(set_2_2[[j]],result[4,2])

}

if (length(set_2_2[[set_1[1]]]H==1) {
FUN_1(5,1)

} else if (length(set_2_2[[set_1[2]]H==1)
FUN_1(5,2)

I else if (length(set 2 2[[set 1[3]1D==1)
FUN_1(5,3)

} else if (length(set_2_2[[set_1[4]]DH==1)
FUN_1(5,4)

} else if (length(set_1_1[[set_2[1]]D==1
FUN_2(5,1)

} else if (length(set_1_1[[set_2[2]]D==1
FUN_2(5,2)

} else if (length(set_1_1[[set 2[3]]H==1) {
FUN_2(5,3)
} else if (length(set_1_1[[set_2[4]]H==1) {

FUN_2(5.4)
b oelse {
result[5,1] <<— sample(set_1,1)
result[5,2] <<— sample(set_2_2[[result[5,1]]],1)
set_1 <<— setdiff(set_1,result[5,1])
for Gin1:8) {
set_1_1[[j]] <— setdiff(set_1_1[[j]].result[5,1])
}
set_2 <<— setdiff(set_2,result[5,2])
for Gin1:8) {
set_2_2[[j]] <— setdiff(set_2_2[[j]],result[5,2])

}

if (length(set_2 2[[set 1[1]]1DH==1) {
FUN_1(6,1)

} else if (Iength(set_2_2[[set_1[2]]DH==1 {
FUN_1(6,2)

} else if (length(set_2_2[[set_1[3]]H==1) {
FUN_1(6,3)

} else if (length(set_1_1[[set_2[1]]DH==1) {
FUN_2(6,1)

} else if (length(set_1_1[[set_2[2]]H==1) {
FUN_2(6,2)

} else if (length(set_1_1[[set_2[3]]D==1) {
FUN_2(6,3)

}else {
result[6,1] <<— sample(set_1,1)
result[6.2] <<— sample(set_2_2[[result[6.1]]].1)

set_1 <<— setdiff(set_1,result[6,1])
for Gin1: 8 {

set_1_1[[j]] <<— setdiff(set_1_1[[j]],result[6,1])

}
set_2 <— setdiff(set_2,result[6,2])
for Gin1: 8 {

set_2 2[[j]] <— setdiff(set_2_2[[j]],result[6,2])

}

if (length(set_2_2[[set_ 1[1]]DH==1) {
FUN_1(7.1)

} else if (length(set 2 2[[set_1[2]] D ==1) {
FUN_1(7,2)

} else if (length(set 2 2[[set 1[3]]H==1) {
FUN_1(7,3)

} else if (length(set_1 _1[[set 2[1]]DH==1) {
FUN_2(7,1)

} else if (length(set_1_1[[set_2[2]] D ==1) {

FUN_2(7,2)

else if (length(set_1_1[[set_2[3]]1Hh==1) {

FUN_2(7.3)

else {

result[7,1] <<— sample(set_1,1)

result[7,2] <<— sample(set 2 2[[result[7,1]]7,1)

set_1 <<— setdiff(set_1,result[7,1])
for Gin1:8) {

set_1_1[[j]] <— setdiff(set_1_1[[j]],result[7,1])

}
set_2 < — setdiff(set_2,result[7,2])
for (jin1:8) {

set_2_2[[j]] <— setdiff(set_2_2[[j]],result[7,2])

}

result 8,1 ] <<— setdiff(1 : 8,result[1: 7,1])
result] 8,2 ] <<— setdiff(1 ¢ 8,result[1: 7,2])
for Giin 1% 8) {

result_cum[ result[i,1],result[i,2]] <<— result_cum[re-

sult[i,1].result[i,2]]4+1
}
# print(k)
}
# print(x)
print(now())
result_all[ ,,x] <<— result_cum/n_1
}
result_mean << — matrix(NA,nrow=8,ncol=8)
for (iin1:8) {
for Gin1:8) {

result_mean[i,j| <<— mean(result_all[i.j,])

}
result_sd <<— matrix(NA,nrow=238,ncol=28)
for (iin1:8) {
for Gin1:8) {
result_sd[i,j] <<— sd(result_all[i.j,])

}
result_all[,,1]
# # # # Confidence Interval

ci_95 <<— data. frame(cbind(rep(NA,8) ,rep(NA,8) ,rep(NA,
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8) ,rep(NA,8),rep(NA,8),rep(NA,8),rep(NA,8),rep(NA,
8)))
% ci denotes confidence interval
colnames(ci_95) <Z— as. character(1 : 8)
2 95% confidence interval
for iin 1+ 8) {
for (in1:8) {
ci_95[i,j] <<— paste0(" (", round((result_mean -+ qnorm
(.025) * result_sd/sqrt(n_2))[i,j] * 100,4),",",round((result_
mean-+qnorm(.975) * result_sd/sqrt(n_2))[i,j] * 100,4),")")
}
}
ci_95 # in percentage
ci_99 <<— data. frame(cbind(rep(NA,8) ,rep(NA,8) ,rep(NA,
8),rep(NA,8),rep(NA,8),rep(NA,8),rep(NA,8),rep(NA,
8)))
colnames(ci_99) <Z— as. character(1 : 8)
2 99% confidence interval
for iin 1+ 8) {
for (in1:8) {
ci_99[i,j] <<— paste0(" (", round((result_mean -+ qnorm
(.005) * result_sd/sqrt(n_2))[i,j]* 100,4),",",round((result_
mean-qnorm(. 995) * result_sd/sqrt(n_2))[i,j] * 100,4),")")
}
}
ci_99 # in percentage
Z £ £ £ Quantile
# From .025th quantile to .975th quantile
quantile_1 <<— data. frame(cbind(rep(NA,8) ,rep(NA,8),rep
(NA,8),rep(NA,8),rep(NA,8),rep(NA.8),rep(NA,8),rep
(NA,8)))
colnames(quantile_1) <Z— as. character(1 : 8)
for Gin 13 8) {
for Gin1:8) {
quantile_1[1,j] <<— paste0(" (", round(quantile(result_all
[i.j»],.025) * 100,4),",", round ( quantile (result _all[i,j, ],
.975) % 100,4),")"™)
}
}
quantile_1 # in percentage
= # # # From .005th quantile to .995th quantile
quantile_2 <Z— data. frame(cbind(rep(NA,8) ,rep(NA,8),rep
(NA,8),rep(NA,8),rep(NA,8) ,rep(NA.8),rep(NA,8),rep
(NA,8)))
colnames(quantile_2) <— as. character(1 : 8)
for Gin 13 8) {
for Gin1:8) {
quantile_2[1,j] <<— paste0 (" (", round(quantile(result_all
[i.j,]..005) * 100, 4),",", round ( quantile (result _all[i,j, ],
.995) % 100,4),")"™)
}
}
quantile_2 # in percentage
sink ()
rm(list=1s())
1/4+1/5.5+1/6+1/8.5+1/9+1/15+1/15+1/17+1/28+1/
34
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